BT —E &

]

AIl'TAC

PC. POC%7%l

¥, & 5T 1E 15

PC 6 01 [1 [

@ﬁ@ﬁ@ﬁ@

ORBILE QEEOR ©F: %1 134 @EEENKE B®IF IR
PC. BNEE — SEIFIRIT CEREEDR AR PEEER
=7 4. 0amm 'M5. M5X0.8 | ®4, ©6 | . o
| —— : : : | @4, .
!!"l-’ } 6. o6mm [ " /’”””’w’ ””””””””” r8: X EO: ke
: 01: PT1/8 1 : .
= 8: ®8mm ‘o4, ®6 00 E Rt e, PTSH
POC. BIRMNER 10. ®10mm 02: PT1/4 08 ©10 L
12: ®12mm 03: PT3/8 L0112 D:. kB O ke
04: PT1/2 ; :
ERRE BEORR T IRARERER
= 2
{ERENEE 0~10kgf/cm’(0~1.0MPa) EE R R FAR o4 o6 ﬁ%g@ 516 513
ar —750mmHg(10Torr) VI3 ® ®
REBMIEE] 1.5MPa PT1/8 ° ° ° ° °
FRRESHE (C) -20~70 PC PT1/4 D ® ® ° D
SERNE [EENEIPUE EP;S L4 ° Ld L4
- 1/2 D D ° °
= N/
PRI KEB/5RE M5 ° °
PT1/8 ° ® D °
POC PT1/4 ° ® ® ° °
Eas PT3/8 D ° °
PT1/2 D °
1D, BHELRETH, MBS, _
PIERIETS
2. BEEDEEBHE, MEAH PC% 7| Fik &% HE FR A8 "H
- . 1 |BBEO POM | 4 | EfIE | POM
IRNMNBEERA, #RERGS 2 | EME |85% | 5 |am0S NBR
BN, 3 | BERS B 6 | A8 =i
3. BEEOSECENERRERIE,
FEmEEERER K,
S ERRE
oD 20
PC®7%I == POC® 7l =
\» NEs o | 4 _(./? ! “lo
| o M5 1% : . 1 R UL
I i i i |
AT B -
e =
WEEE | oD R L c K | ®8H | ®8(0) = {9
PC4M5 M5x0.8] 3.5 19.5 14 9 6.5 A& op
PC401 4 PT1/8 | 75 19.5 14 10 7
PC402 PT1/4 10 19.5 14 14 13.5 — ]
PC6M5 M5x0.8 3.5 225 | 16.5 12 8.5 RSR\FFEE oD R oP L c K | #igH | E&(g)
PC601 PT1/8 75 220 18.5 12 75 POC4M5 M5 x 0.8 9 3.5 18.5 14 2.5 3.6
PC602 6 PT1/4 10 245 18.5 14 15.5 POC401 | 4 | PT1/8 10 7.5 18 14 3 5.5
PC603 PT3/8 11 225 185 17 24 POC402 PT1/4 14 10 19.5 14 3 12.6
PC604 PT1/2 14 26.0 18.5 21 46 POC6M5 M5x0.8| 12 356 | 215 | 165 2 5.9
PC801 PT1/8 7.5 28 18.5 14 13.5 POC601 | 6 PT1/8 12 7.5 22.0 | 18.5 4 6.3
PC802 g PT1/4 10 27 18.5 14 13 POC602 PT1/4 14 10 | 22.0 | 185 | 4 11.8
PC803 PT3/8 11 235 | 185 17 21 POCB801 PT1/8 14 75 | 265 | 18 5 9.9
PC804 PT1/2 14 27 18.5 21 435 POC802 | 8 | PT1/4 14 10 25 18 6 10.1
PC1001 PT1/8 | 75 30 21 17 20.5 POC803 PT3/8 17 11 235 | 18 6 19.3
PC1002 10 PT1/4 10 32.5 21 17 24 POC1001 PT1/8 17 7.5 30 21 5 16.5
PC1003 PT3/8 11 28 21 17 20.5 POC1002| | | PT1/4 17 10 29 21 6 15.4
PC1004 PT1/2 14 26.5 21 21 36 POC1003 PT3/8 17 11 28 21 8 18.7
PC1201 PT1/8 | 75 32.5 23 21 38.5 POC1004 PT1/2 21 14 | 265 | 21 8 35.3
PC1202 12 PT1/4 10 35 23 21 40.5 POC1202 PT1/4 21 10 | 345 | 23 6 32.3
PC1203 PT3/8 1M 30.5 23 21 28.5 POC1203] 12 | PT3/8 21 11 30 23 8 25.1
PC1204 PT1/2 14 32.5 23 21 415 POC1204 PT1/2 21 14 32 23 8 37.5

P

N



BT —E &

]

AIl'TAL

PC. PLEfRr%%I

DALH

fBi5

PC 6 01

0o o-

M
®

OB QEEOR QE RN @EEKE O F B GFERKR
PC: IRER CEERR CBREEOE ] mefs meEm
[ M3: M3X0.5 ®3.2, D4 i
EEMIEH 3.2, ®3.2mm [ 8 & 0 e
— 4. 04 M5: M5X0.8 ©3.2, D4, O6 [ N 7863, PT il
PLLEREE g gomm | e ! 5 P M: 2K
= D: O
01: PT1/8 4, ©6 : B ;S%D =
ERRE BEORR T IRARERER
{ERENEE 0~10kgflcm2(0~1.0MPa) EE R R FAR B/EOR
=1 -750mmHg(10Torr) Vi3 CD:.Z ®.4 ol
{REEME ] 1.5MPa
PC/PL M5 ° ° °
EREEEE () 20-70 / e : :
BRANE [EEENBEUPUE
L) KEB/5RE
ERFE
1. \EBeEENE, BDLEEE,;
2. BB ZBEBIE, M3/MEATH
BRINBEEE, ERENE
BEHOELR;
3. BREOKEER, BT RB2EEA,
HEENERRRIRE, HEREBLEHM,
S ERRE
PCR3I e PLREI
TN ==y ‘ & : '
\. T~ Lo N (" EA V%
A R M3/M5HRE Q ” e —
1 O | | N__ [ 1H
\ 1 | , | i o
A % Y e iss, 0 v
a o ] M3/MBIEIS
LN : : 7
T ¥j _ R J,f
6 A R
X Il
RSE\FFSE  oD| R L K| x|y #tisHAgﬁsHBEE(g)i BISE\FSE ©oD| R |OP| L | K |EA| EB #8H X | Y |&E&(g)
PC3.2M3-M|, ,|M3x0.5| 3 | 16 [11.5/6.8/8.7 | 7 15 | 1.7 | PL3.2M3-M . IM3x05 | 3 [12 | 1147 (6887 24
PC3.2M5-M|~“|[M5x0.83.5| 16 |11.5/6.8|8.7| 7 2 2.0 | PL3.2M5-M ~“|M5x0.8] """ 35|12 | Cl145] 7 |68]|87| 2.7
PCAM3-M M3x0.5| 3 [17.5/12.5/7.8/9.5 8 15 | 24 | PLAM3-M M3 x0.5 3 12,5 14 7 |78]95]| 3.0
PCAM5-M | 4 |[M5x0.8/3.5| 17 [12.5/7.8/95 8 2 2.7 | PLAM5-M | 4 [M5x0.8/8.5|3.5[12.5| 15 [145] 7 | 7.8 95| 3.3
PC401-M PT1/8 |7.5/17.5/13.5/7.8/95 | 10 3 55 | PL401-M PT1/8 75125 16 | 10 | 7.8 9.5 6.2
PC6M5-M | . | M5X0.8 |3.518.513.5/9.8111.7| 10 2 3.6 . PL6M5-M | . [M5X0.8[ 35135 1165/ 7 [9.8 1.7 4.0
PC601-M PT1/8 |7.5/19.0/15.5/9.8[11.7] 11 4 6.0 | PL601-M PT1/8 |~ 7.5 [13.5| " |16.5| 10 | 9.8 [11.7| 6.8



BT —E

AIl'TAL

BE—RBUR

DA THE T
[BEEE =t PL 6 01 [] [J
d) @@ 4) (5
T [ I
| \ —
OMEKR QEEOR QE IR @EEiR BF R HE
PL: LSRR8 CEEREN  EMEEDE | FefR | FETE SRS
‘ ‘ 0. xe bk
M5: M5X0.8 | ©4, ®6 7. W@ !
,,,,,,,,,,,, : :%D:W@:Eﬁ
A W |
4. ®4mm
6: ®6mm '
8: ®8mm s it EEEEEEEEEEE R S b b 8. PTH
10: ®10mm | | ‘PCF
12: ®12mm L RS e
01: PT1/8 3@4 6 beenooeisoe oee oo
] 02: PT1/4 | ‘ 3 3
03. PT3/8 L @8, ®10 D: & fgm @3
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 04: PT1/2 : FRE e
PZB; ! 7. Be T
ISR PIfD ? - 11- ?1 Q q
e [ [ D o)
\P (2)(3)4) (5 ®
| |
OMEKR QEEOR QEEOR (@E g GmEEfR ©FRKHR
6. ®6mm 4. ®4mm 01: PT1/8 ety mews
8. ®8mm 6. ®6mm 02: PT1/4 . Ko (ED: e A8 Xe 8. PTS
10: @10mm |8 oBmm 0. pra boRe B0 RS Am. Re
B g iR ExR
EREHEEE 0~10kgf/cm*(0~1.0MPa) BEOE T | MR HEOE
aE —750mmHg(10Tor) BRI RBBRE 01 06 | 08 | 010 012 #;ﬁ % 04 06| 08010012
—— M5 e [ o M5 | @ | @
REME) 1.5MPa PTi/E | ® | ®© ® © e PTi/E| ® ® ® | ®
FRREEHE (C) -20~70 PL PT1/4 | @ | @ [ @ | @ | ® PLF [PT1/4| @ | ®@ | ®@ | ® | ®
ERNE BEEMNETPUS PT3/8 e o o o PT3/8 e o o o
5 Sy PT1/2 e o o | o PT1/2 o o o
) e/Ee ME ° ° ME o o
o PT1/8 | ® | ® | ® | @ PTI/S| ® | @ | ® | ®
EmE PLL [ PT1/4 | ®  © | @ | @ | @ PCF [PT1/4| @ | @ | @ | ® | ®
1. BEESEARRR, BErRETSERIEAR; Eﬁfg e o : : Izﬁfg : : : :
2. MBHEEH, TEERRENCOSTIRE; I R e
3. REREEESERE, RESEEDHRETRRMA; g [PTE T @ @ ® @ sl e e o e
4, BBHLBEBIE, MEAHIRBINBIERL, #RKR PED PT1/4 | @ ° ® ° ° PMF [PT1/4| @ | @ | @ @ @
BB BB R PYB | PT3/8 CEREEE R PT3/8 e o o o
5. BRI ILINERISR, BEHEEERE. PT1/2 ° [ J [ J PT1/2 e | o o
[ M5 e [ o
AIEBtEE oy | PTIE | @ [ ® | ® ER | | EEOE
PHE | PT1/4 e o o B3 | R 06-04 ©8-06 ©10-08
PL% 5 Fit| &B | HE EE/B ® 00 o PT1/8| ®
e /2 e o o
1 ZEBEO POM PTi/s @ | ® | @ PKD |PT1/4 )
2 | BNR | 85w puw |_PT1/4 o [ o [ o PT3/8 °
3 BERE AHH PT3/8 L] [ J L ®
o PT1/2 e o o
4 EMﬁ POM PT1/8 e o
5 SHOT| NBR PT1/4 e | o o
6 | A | PBT PZB I pra/s o | o o o
1 7 | OME | NBR PT1/2 e o o
8 Bz =i
V4 266

N



N N

W ——E &R AIlr'TALC
EE— R

NEBFRIE
PLZ5I | PCF%3I
EA oP
K _cv_g‘
] ~ ——
K777777 7Diﬂ_ i
dl ,,676 5 ‘ e
H | ©
i [_ : | i —
T \‘\ LI
_ i L |
SR R
‘
BISE\E®E | oD| R oP | L | K | EA | EB [#igH/EE(g) | Z®\E®| oD R oP | L c K | #:8H E&(g)
PL4MS5 M5x0.8] 9 | 35 | 14 | 17 | 15 | 8 3 ! PCF4M5 M5x0.8| 9 5 21 14 10 | 2.7
PL401 4 PT1/8 9 7.5 14 17 118.5| 10 4.5 | PCF401 4 PT1/8 9.5 8 23 14 14 4.5
PL402 PT1/4 9 10 14 17 122.0] 14 12 PCF402 PT1/4 9.5 11 26 14 17 6.5
PL6Mb5 M5x0.8 12.5| 3.5 17 20 |17.0 8 4.5 PCF6M5 M5 x 0.8 12 5 215 16.5 12 3.9
PL601 PT1/8 | 12.5| 7.5 | 17 | 20 |20.5 10 6 ~PCF601 PT1/8 | 126 | 8 | 255 165 14 | 5.6
PL602 | 6 | PT1/4 |12.5| 10 | 17 | 20 |24.0| 14 | 13.5 | PCF602 | 6 | PT1/4 | 125 | 11 | 285 165 17 | 75
§t6°3 E% 125 11 | 17 | 20 |255] 17 | 205 . _PCF603 PT3/8 | 13 | 12 | 295  16.5 | 21 | 10.7
PLSS‘: PT% 11255 7“; 11875 52 gg-g f; 7365 | PCF604 PT1/2 | 13 | 135 | 31.0 165 | 25 | 138
: : : : PCF801 PT1/8 | 14 8 | 275 185 | 14 | 58
PL802 PT1/4 | 16 | 10 | 18.5| 23 |25.0 14 | 13 ‘ /
Sloos | 8 [Pras i T 1 Tiest o5 o6 17 23 | PCFB02 | o | PT1/4 | 145 | 11 | 305|185 17 | 8.4
BLa04 PTiz T 15 12 Tissl 23 T3t0l 21 56 . PCF803 PT3/8 | 145 | 12 | 315 | 185 21 | 11.2
PL1001 PTi/8 | 18 7.5 | 21 | 255|250 17 | 165 PPCCFF804 2”2 1451135 | 33 | 185 | 25 | 144
PL1002 | | PT1/4 | 18 | 10 | 21 |265 27.0] 17 | 19 1 1001 /8 | 17 8 29 | 21 17 | 95
PL1003 PT3/8 | 18 | 11 | 21 255280 17 | 21 ; _PCF1002) | PT1/4 | 17 | 11 | 33 | 21 17 ] 99
PL1004 PT1/2 | 18 | 14 | 21 |255325]| 21 | 37 | _PCF1003 PT3/8 | 18 | 12 | 34 | 21 | 21 14
PL1201 PT1/8 | 21 | 7.5 | 23 | 285|265 17 19 i _PCF1004 PT1/2 | 18 | 1356 | 36,5 | 21 25 | 171
PL1202 | ., | PT1/4 | 21 | 10 | 23 [285 285 17 | 215 i PCF1202 PT1/4 | 21 11 | 335 ] 23 21 | 175
PL1203 PT3/8 21 11 23 | 295 33 17 255 PCF1203 | 12 PT3/8 21 12 356.5 23 21 16.6
PL1204 PT1/2 | 21 | 14 | 23 |295| 34 | 21 37 i PCF1204 PT1/2 | 21 | 135 | 37 23 25 | 19.7
PMF 31 o0 i | =
G : : < 4 = A
QEE%EIEI ° S ‘ 3 f—————— Loty
T ! ]
¥ M NG ]1]. | ; 3 -

Ii :
i
]
L
EB
L
——a
|
-
o
0

R s = A
WH@®OD R | M | L | C | K LA E GASSGH#:EHEE RMWF® oD R [ oP | L | K | EA | EB #i#H @£
PMF401 A PT1/8M12X1 8 |25 |14 12 | 4|4 14 | 14 | 64 | PLFAMS M5x0.8| 9 5 14 17 | 16 10 2.9
PMF402 | © [PT1/4M12X1| 11 | 29 | 14 | 12 | 4 | 4| 14 | 17 9 | _PLF40T] 4 | PT1/8 | 9 8 | 14 | 17 [ 21 | 14 | 46
PMF601| |PT1/8M14X1| 8 (265165125 5 |4 | 17 | 17 | 9.1 gtgg&é MZT:/(;‘S 1295 151 1‘7‘ ;(7) 1245 1(7) 6%8
PMF602| 6 |PT1/4|M14X1| 11 |30.5/16.5[12.5| 5 | 4| 17 | 17 | 10.9 ' PLFe0t e T1251 8 T30 25 T2 58
PMF603 PT3/8M14X1) 12 [31.5[16.5[12.5] 6 |4 | 17 | 21 | 132 | “pifeon | © " pTija (128 11 | 17 | 20 | 26 | 17 g
PMF801 PT1/8IM16X1 8 |27.5/18.5/13.5/5.5| 4 19 19 12.8 PLF603 PT3/8 12.5 12 17 20 27 21 10.7
PMF802|  PT1/4M16X1 11|32 [18.5/13.5/55/ 4| 19 | 19 | 167 | "PLF801 PT1/8 | 15 | 8 | 185 23 | 20 | 14 | 6.6
PMF803 PT3/8M16X1| 12 | 33 [18.5[13.5/5.5| 4 | 19 | 21 15 | PLF802 | | PTI/4 | 15 | 11 185 23 [2756| 17 | 9.2
PMF804 PT1/2/M16X1/13.5/34.5/18.5/13.56/65| 4 | 19 | 25 | 181 | PLF803 PT3/8 | 156 | 12 |18.6| 23 |285 21 | 11.9
PMF1001 PT1/8|M20X1 8 | 30 | 21 [14.5/7.56/ 5 | 24 | 22 | 19.6 | PLF804 PT1/2 | 16 | 135|186 | 23 | 30 | 256 | 16.2
PMF1002 . [PT1/4/M20X1| 11 | 36 | 21 [14.6[76/6 | 24 | 22 | 228 | Etggg; ﬁg;i 12 181 31 ;g: 2245 1; Hg
PMF1003 ~ |PT3/8/M20X1| 12 | 36 | 21 [14.5/7.5/ 5| 24 | 22 | 21.1 | 10 ' - :
! PLF1003 PT3/8 | 18 | 12 | 21 | 255 | 30 | 21 | 14.5
PMF1004  |PT1/2|M20X1/13.637.5| 21 [14.6/7.5| 5| 24 | 25 | 232 | 5 riooa PTiz |18 1351 21 25513151 25 174
PMF1202  |PT1/4|M22X1] 11 345/ 23 165/ 8 |6 | 27 | 24 | 262 | piF1202 PT1/4 | 21 | 11 | 23 | 285 285 17 | 137
PMF1203/ 12 |PT3/8|M22X1| 12 |37.5| 23 |15.5| 8 | 6 | 27 24 27 " PLF1203| 12 | PT3/8 21 12 23 [ 295 32 21 17.4
PMF1204  |PT1/2/M22X1[13.5 39 | 23 [16.5] 8 | 6 | 27 | 25 | 26.2 | PLF1204 PT1/2 | 21 | 135 | 23 |295| 33 | 25 | 20.4

V4, 267



—

BT —E

AIl'TAC

BE—RBUR

268

PLLZA%I S PHW R
3 : EA
| : | H 7K
48 = | |
e G 3 v [ s
Y ] | | =1 Y I
1 | i T Al o
| 1 Ol ‘ U
T - g = :
| &) i 1
o N _ L
| o | Mo : ]
‘ o i
sunc TS T
I N
R
T
RR\F® ©D OP | L K | EA | EB #igH Z&(g) RIS\ oD R OP| L | C | K | EA EB DC Hi&H &2(g)
PLL4AM5 M5x0.8/ 9 | 35 | 14 | 17 |325 8 8.9 PHW401 | 4 |PT1/8| 9 |7.5| 38 | 14 [20.5[14.5| 13 | 11 19
PLL401 | 4 | PT1/8 | 9 | 75 | 14 | 17 |3565] 10 | 12.3 PHW601 PT1/8[12.56/ 7.56| 38 [16.56/23.0] 16 | 13 | 11 [ 21
PLL402 PT1/4 | 9 | 10 | 14 | 17 |385] 14 | 16.9 PHW602 | 6 PT1/4/12.5| 10 |43.5/16.5/26.0/17.5/15.5| 14 | 40.2
i'-L'-L%'\é'f M'fﬁ/oés 1;2 32 1; gg 2‘7‘2 180 2‘3? PHW603 PT3/8/12.56| 11 | 50 |16.5/27.0| 20 16.5| 19 | 69.2
Plieoz | © [Pria (Tosl 1o [ 177 20 Ta05 14 18 PHW801 PT1/8| 15 | 7.5 |40.5/18.5/26.5/16.5/16.5| 11 | 23.6
FLL603 Pras T1251 11 117 120 |23 |17 | 234 PHW802 | . [PT1/4| 15 | 10 [43.5/18.5/28.5/18.5/15.5 14 | 40.8
PLL802 | 8 PT1/4 15 10 | 185 | 23 455 14 22.7 PHW804 PT1/2| 15 | 14 | 61 |18.5| 32 |24.5| 22 | 24 134.8
PLL803 PT3/8 | 15 | 11 | 185 23 | 48 | 17 | 27.7 PHW1002 PT1/4| 18 | 10 465 21 | 31 | 20 |18.5| 14 | 47
PLL1001 PTi/8 | 18 | 7.6 | 21 | 255 56056 | 156 | 375 PHW1003| 10 |PT3/8| 18 | 11 | 55 | 21 | 33 | 21 | 22 | 19 | 875
PLL1002| , | PT1/4 | 18 | 10 | 21 |25.56|53.5 | 15 | 40.6 PHW1004 PT1/2| 18 | 14 | 61 | 21 [35.5| 25 | 22 | 24 | 1377
PLL1003 PT3/8 | 18 | 11 | 21 | 255|646 17 | 40.7 PHW1203|  |PT3/8| 21 | 11|55 23 |36 | 23|22 | 19 | 864
PLL1004 PT1/2 | 18 | 14 | 21 |2565] 59 | 21 | 474 PHW1204| ° [PT1/2| 21 | 14 | 61 | 23 | 38 [26.5) 22 | 24 | 1475
PLL1202 PT1/4 | 21 | 10 | 23 | 285 5655 | 156 | 43
PLL1203| 12 | PT3/8 | 21 | 11 | 23 | 295 60 | 17 | 56.4
PLL1204 PT1/2 | 21 | 14 | 23 | 295 63 | 21 | 56.7
PH®R®I PHF %3l
H o H
1 4 LY 1
L& : - — RB
FT1T 9 o (&
— 1 Di a | i ==
5T T ey © 1 : ——1 Lo e
8] ‘ | | © élr ei
‘ - M5%4& | | ]
I &) e e
-+ L B s 0 -+
R E
RA/
TSRS OD ©oP | L | € | K | E |#i8H E8(g @ ZWF® oD| RA RB [OP|[LA[LB|[ C | K | E HZBHEE(g)
PHAME |, IM5x0.8 O | 35 | 17 | 14 | 19 | 8 | 58 PHF4MS| | [M5x0.8M5x0.8 9 (3.5 6 20 14 19| 8 | 6.2
PH401 PT1/8 | 9 | 75 | 25 | 14 |205| 11 | 128 PHF401 PT1/8 | PT1/8 | 9 |7.56| 8 29.5 14 [205 12 | 12.9
PH6MS5 M5x0.8 125 | 35 | 17 | 165|236 | 8 | 638 PHF6M5 M5x0.8M5x0.812.5 3.5 | 6 | 20 |16.5(23.5, 8 | 7.1
PH601 | | PT1/8|12.5| 7.6 | 26 | 165 23 11 4 PHF601 | . [ PT1/8 | PT1/8 [12.5/7.5| 8 [29.616.5 23 | 12 | 13.9
PH602 PT1/4 | 125 | 10 | 28 | 16.5| 25 | 14 | 25.4 PHF602 PT1/4 | PT1/4 [12.5/ 10 | 11 | 35 |16.5| 256 | 17 | 30.3
PH603 PT3/8 | 125 | 11 | 33 |16.5 27 | 19 | 50.2 PHF603 PT3/8 | PT3/8 |12.5/ 11 | 12 | 40 16.5| 27 | 19 | 442
PH801 PT1/8 | 15 | 7.5 | 25 | 18.5 26.5 11 | 14.7 PHF801 PT1/8 | PT1/8 | 15 | 7.6 8 |29.5(18.5[26.5| 12 | 15
PHB02 | o [ PT1/4 | 15 | 10 | 28 | 185 285 | 14 | 26.4 PHF802 | o | PT1/4 | PT1/4 | 15 10 | 11 |35 [18.5[28.5] 17 | 30.7
PH803 PT3/8 | 15 | 11 | 33 | 185|295 | 19 | 494 PHF803 PT3/8 | PT3/8 | 15 | 11 | 12 | 40 |18.5[29.5| 19 | 44.8
PH804 PT1/2 | 15 | 14 | 39 | 185 | 32 | 24 | 89 PHF804 PT1/2 | PT1/2 | 15 | 14 [13.5/47.5/18.5| 32 | 24 | 84.7
PH1002 PT1/4 | 18 | 10 | 28 | 21 | 31 | 14 | 27.7 PHF1002 PT1/4 | PT1/4 | 18 | 10 | 11 35 | 21 |31 | 17 | 32
PH1003| 10 | PT3/8 | 18 | 11 | 33 | 21 | 33 | 19 | 51.1 PHF1003| 10 | PT3/8 | PT3/8 | 18 | 11 | 12 | 40 | 21 | 33 | 19 | 46.2
PH1004 PT1/2 | 18 | 14 | 39 | 21 | 355 24 | 88.5 PHF1004 PT1/2 | PT1/2 | 18 | 14 |13.5/47.5 21 |35.5 24 | 86.1
PH1203| ., [ PT3/8 | 21 | 11 | 33 | 23 | 36 | 18 | 63 PHF1203| | PT3/8 | PT3/8 | 21| 11| 12|40 [ 23|36 | 19 | 48.4
PH1204 PT1/2 | 21 | 14 | 39 | 23 | 38 | 24 | 928 PHF1204 PT1/2 | PT1/2 | 21 | 14 |13.5/47.5 23 | 38 | 24 | 89.7
PKD %31 JC I
3-OPB i RSB\ | ©ODA | ©oDB | R L A | oPA | ©oPB | KA
3-0DB Y | h‘ PKD6-401| 6 4 |PT1/8| 75 | 665 | 125 9 16.5
| | !
20y ™ L | PKD8-602| 8 6 |PT1/4 10 79 15 | 125 | 185
| - | PKD10-803 10 8 | PT3/8| 11 | 915 | 18 15 | 21
R i
« w IR 1] IR | HWm®® | KB | oJ  JB | JC  DC E | Bi8H =S(g)
518 — - 711 49 3 PKD6-401 | 14 | 3.2 8 34 | 10 | 175 | 12 | 15.8
~ © ; t PKD8-602| 165 | 3.2 | 95 | 40 12 21 14 | 265
KA DC|DC PKD10-803/ 18.5 | 43 | 11 48 | 145 | 24 17 | 382
A

N



W ——E &R AIlr'TALC
EE— R

PEBR5I - PYB®3I bC ) op
2-EA | 2-0D /
2-K 1 OO
N S B | “-;,) 3
M ;ﬁ% | |
° Cé_ | S ‘ [ ‘ v 3 ’?ﬁi
[a) B y I | ) . ‘ M ‘ 3 i
) SRR i ! ! i
ey DL - h 3 iy o ‘j e ¥

o 0J oJ °©

. B
B\ oD R |oP| L | K [EA[EB | 0J| JB [#:#H|E®E(g) & H\@® ob| R |[oP[ L | c | K [@oJ|JA|DC | #igH EE(0)
PEB4AMS5  |M5x0.8 9 |35 14 | 17 | 21 |32 /65| 9 | 68 ' PYBAMS M5x0.8 9 |3.5355 14 32|13 10| 9 | 6.7
PEB401| 4 | PT1/8 | 9 | 75|14 17 25 3265 10 | 88 . PYB401| 4 | PTI/8 | 9 75395 14 |32 13 | 10 | 10 9
PEB402 PT1/4 | 9 | 10|14 | 17|28 |32 65| 14 | 1565 | PYB402 PT1/4 | 9 |10 425/ 14 |32 |13 | 10| 14 | 108
PEB6M5|  M5x0.812.5 3.6 16,5 20 235 32| 8 | 12 | 11.2 ' PYB6M5 M5x0.812.5/ 3.5 40.5(16.5| 3.2 |156.5| 12 | 12 | 11.1
PEB6OT| , | PT1/8 [12.5/ 7.5 16.5/ 20 [275/3.2| 8 | 12 | 135 | PYBBOI . | PT1/8 12575 44.516.5/ 32165 12 | 12 | 137
PEB602 PT1/4 [12.5 10 |16.5| 20 |30.5/3.2| 8 | 14 | 186 | PYB602 PT1/4 12.5/ 10 |47.516.5 3.2 |15.5| 12 | 14 | 18.2
PEB603 PT3/8 |12.5| 11 |16.5| 20 | 32 |32 8 | 17 | 253 | PYB603 PT3/8 12.5/ 11 49.016.5| 3.2 |15.5| 12 | 17 | 25
PEBSO1 PT1/8 | 15 | 7.5 |18.5| 23 |30.56 4.3 | 9.6 | 14 | 18.4 | PYB8OI PT1/8 | 15 |75 50 |18.5/3.2 | 17 |145| 14 | 19.8
PEBB02| . | PT1/4 | 15| 10 [18.5/ 23 | 33 |4.3 85 14 | 21.3 | PYB802 . | PT1/4 | 15 10 52.518.5/32 17 145 14 | 22
PEBS03 PT3/8 15 | 11 |18.56| 23 |34.56/ 4.3 95| 17 | 282 | PYB303 PT3/8 | 15 |11 | 54 185 3.2 | 17 |145| 17 | 27.7
PEB804 PT1/2 | 15 14 |18.5 23 |38.5 43|95 21 | 41 | PYB804 PT1/2 | 15 | 14 | 58 18,5/ 3.2 | 17 |14.5, 21 | 40.8
PEB100] PT1/8 | 18 | 7.5| 21 265/ 34 | 43 11| 17 | 267 | PYB1001 PT1/8 | 18 |7.5/56.5 21 | 4.3 |19.5| 18 | 17 | 27.4
PEB1002 | PT1/4 | 18 | 10 | 21 265366/ 4.3 | 11 | 17 | 282 . PYB1002 | PT1/4 | 1810|569 | 21 |4.319.5 18 | 17 | 29.5
PEB1003 PT3/8 | 18 | 11 | 21 26.5/37.6/ 4.3 | 11 | 17 | 31.9 . PYB1003 PT3/8 | 18 |11 | 60 | 21 | 4.3 195 18 | 17 | 325
PEB1004 PT1/2 | 18 | 14 | 21 (265|415 43 | 11 | 21 | 4564 | PYB1004 PT1/2 |18 |14 | 64 | 21 | 4.3 |19.5| 18 | 21 | 45.4
PEB1202 PT1/4 | 21 | 10 | 23 | 30 | 41 | 4.3 | 13 | 21 | 49.6 . PYB1202 PT1/4 | 21 |10 |66 | 23 | 4.3 | 21 |20.5| 21 | 273
PEB1203| 12 | PT3/8 | 21 | 11 | 23 | 30 | 42 | 43|13 | 21 | 512 ' PYB1203 12 | PT3/8 |21 |11 67| 23 | 43| 21 |205| 21 | 51.8
PEB1204 PT1/2 | 21 | 14 | 23 |30 | 45 43| 13 | 21 | 57.3 | PYB1204 PT1/2 |21 |14 70 | 23 | 4.3 | 21 [205| 21 | 56.8
PED%3I PZBH 3|
o L L%
T T 1 i 3
wiilinn =R &R |
& | @ ) I | Ny |
i o 1 O S H o i ]
VTS e NACTes s
‘ L [8) coJ Il I\ o 4
s | AL ny>d L]
| €
@ ‘ oJ w 2-0J
BEN] Jt ‘ ,
=1 BN g
R JC

BISE\ESE oD R OP| L | K |[EA EB OJ| JB #i8H ZEE(g) K ZM\FE®X OD R |[L| A E | C OP K | 0J|JB JC BBHEE(g)
PED4M5 M5x0.8 9 35|14 17 |21 [32/65| 9 6.8 | PZB601 PT1/8/7.5 27.5/47.5 12 | 15.2
PED401 | 4 | PT1/8 | 9 |75 | 14|17 256 |32|65| 10 | 88 | PZB602 | 6 |PT1/4/10(39.5[30.5/60.5/12.56(16.5/3.2| 8 |16 14 | 20.4
PED402 PT1/4 | 9 |10 14 |17 | 28 3.2 |6.5| 14 | 155 ' PZB603 PT3/8| 11 32 | 62 17 | 27

PED6M5 M5x0.8[12.5 3.5 [16.5] 20 [23.5/3.2[ 8 | 12 | 11.2 | PZB8OI PT1/8/7.5 30.5/63.5 14 | 20.9
PED601 PT1/8 [12.5| 7.5 |16.5| 20 [27.5/3.2| 8 | 12 | 135 | PZB802 PT1/4/ 10 33 | 56 14 | 23.8
PED602 | © | PT1/a |12.56| 10 |16.5| 20 (30.6/3.2 | 8 | 14 | 18.6 ' PZB803 8 prais 11| *® 3ass75 101854319519 o0
PED603 PT3/8 [12.5| 11 165 20 | 32 |3.2| 8 | 17 | 253 | PZB804 PT1/2| 14 38.5/61.5 21 | 435
PED801 PT1/8 | 15 | 7.56[18.5] 23 |30.5/ 4.3 |9.5| 14 | 18.4 ' PZB1002 PT1/4/ 10 36.5 63 17 | 335
PED802 | o | PT1/4 | 15 | 10 |18.5/ 23 | 33 |4.3[9.56 14 | 21.3 | PZB1003/ 10 PT3/8/11|52.537.5/ 64 | 18 | 21 43|11 22 17 | 365
PED803 PT3/8 | 16 | 11 |18.6) 23 [34.5(4.3 95| 17 | 282 | PZB1004 PT1/2| 14 41.5 68 21 | 49.2
PED804 PT1/2 | 16 | 14 |18.5| 23 [38.56/ 4.3 | 9.5 | 21 41 | PZB1203 PT3/8| 11 42 ] 72 21 | 66.5
PED1001 PT1/8 | 18 | 7.56| 21 26,5 34 | 4.3 11 | 17 | 26.7 | PZB1204 V2 o172 14 %95 45 75 | 21| 23 |43 13126 oy gs 4
PED1002| | PT1/4 | 18 | 10 | 21 [26.5/36.5/ 43| 11 | 17 | 29.2 :

PED1003 PT3/8 | 18 | 11 | 21 [26.5/37.6/ 43| 11 | 17 | 31.9

PED1004 PT1/2 | 18 | 14 | 21 [26.5/41.6/ 43| 11 | 21 | 45.4

PED1202 PT1/4 | 21 | 10| 23 |30 | 41 (43[ 13| 21 | 49.6

PED1203|12| PT3/8 | 21 [ 11 | 23 |30 | 42 43|13 | 21 | 51.2

PED1204 PT1/2 | 21 | 14 | 23 | 30 | 45 43|13 | 21 | 57.3

V4, 269



